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Next you will take a 16 question test about
driving safely among bicyclists and
pedestrians.

Please take out a sheet of paper to mark
down and score your answers.

Good luck!
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b. Occupy a lane



a. Ride on a roadway b. Occupy a lane

c. Ride out of a bike lane to avoid
an obstruction



a. Ride on a roadway b. Occupy a lane

d. ALL are correct

c. Ride out of a bike lane to avoid
an obstruction



a. Ride on a roadway b. Occupy a lane

ANSWER:

c. Ride out of a bike lane to avoid
an obstruction
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Pedestrian crossing the street mid-
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t least 1 foot from the widest point
Of both the car and bicycle
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a. Atleast 1 foot from the widest point ~ b. At least 2 feet from the widest point of
of both the car and bicycle both the car and bicycle



a. Atleast 1 foot from the widest point ~ b. At least 2 feet from the widest point of
of both the car and bicycle both the car and bicycle

R

c. Atleast 3 feet from the
widest point of both the car
and bicycle







wum distance a‘driverrshould maintain
aibicyclistawhenspassing a bicyclists
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a. Yleld to oncoming BICYCIIStS rather
'han rushing to beat the bicyclist.
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a. Yield to oncomi Ng DIC /r]'g'g rather D. S
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(han rushing to beat the DIcyclist WNo are In the crosswalk or on the

adjacent siaewalk.
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a. Yield to oncoming Bicyclists rather 0. Watch for peaestrians or BICYCIIStS

LL | E |, Y ) M ‘ L ) . Ll ~ )\ S e AN LA ~

lhan rushing to beat the bicyclist. WNO are In the crosswalk or on the
adjacent sidewalk.

C. Check blinaspot and siae mirror to
make sure a bicyclist IS not beside



d. Yleld to oncoming BICyclists rather

lhan rushing to beat the bicyclist.
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Watch for pedestrians or bicyclist
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adjacent sidewalk.

ALL are correct

A ~racawnall
NE Crossvvdadik

s

)

¢

c\r

Ji|

LNE

-y

)

=
s



] /:—:‘shou c
g —

-’

a. Yield to oncoming Bicyclists rather

cto
v Y Ullolo

(han rushing to beat the bicyclist.

a
b

- — E - - -
B
C '('f('('] dsSpot ana SIde ror tc
= Jr]‘jJI.JJm‘JJJJJ[ :lrL JJA,'Z' ffllf Jr FJ
« " 0 o)
make sure a bicyclist Is not beside

(]




" B

- —

-



a. Motor vehicles may park in
bicycle lanes.



a. Motor vehicles may park in b. Motor vehicles may cross
bicycle lanes. bicycle lanes with solid
dividing lines to turn.



a. Motor vehicles may park in b. Motor vehicles may cross
bicycle lanes. bicycle lanes with solid
dividing lines to turn.

c. Both are true.



a. Motor vehicles may park in
bicycle lanes.

c. Both are true.

Motor vehicles may cross
bicycle lanes with solid
dividing lines to turn.

Both are false.



a. Motor vehicles may park in b. Motor vehicles may cross
bicycle lanes. bicycle lanes with solid
dividing lines to turn.

c. Both are true.

ANSWER:



T
— N

Motorist may drive up to the
edge of bicycle lane



bicyclist by at least
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a traffic lane?
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\When two bicyclists are riding
Slde-py-siae



a. WWhen two bicyclists are riding 0. When there are obstructions
Slde-by-side glass, or other hazards In the
picycle lane



VWhen there are opstructions

a. Whnen two bicyclists are riding .

\J . - » - s LI\J >)
Slde-by-side glass, or other hazards in the
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c. When making a left turn or using &
left turn lane
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a. WWhen two bicyclists are riding 0. When there are obstructions

Slde-by-side glass, or other hazards In the
pIcyCle lane
o ale Correct

Q)

c. When making a left turn or using
left turn lane
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c. When making a left turn or using a
left turn lane




Vehicle turning left
while cyclist
proceeds straight

Vehicle turning right
while cyclist
proceeds straight




Vehicle turning left
while cyclist
proceeds straight

ANSWER:

Vehicle turning right
while cyclist
proceeds straight
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vVClist to ride on the
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pIcyclist to riae on the



bicyclist to ride on the h. Race the engine or honk to warn

K. ‘ne pIcyclist
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c. Wait to pass until the d
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'ne DIcyclist to ride on the
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a. A bicyclist riding Into the street from b, Opening a car door into the path of
a driveway or side street an oncoming bicyclist
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\ bicyclist riding into the street from  b. Opening a car door Into the path of

| driveway or side street
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~ from the front of a stopped car that you

are passing
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a. A DICyclist riding Into the street from 0. Opening a car door Into the path or
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from the front of a stopped car that you

are passing
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driver.dorwhenrapproaching an intersection
a markedicrosswalk but a pedestrian




R |
driveridowhenrapproaching an intersection
a markedicrosswalk but a pedestrian
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* .
driverrdorwhenrapproaching an intersection
a marked crosswalk but a pedestrian

perore the intersection to allow the

CroSs

0. Continue without siowing SINce the
pedestrian must wait until traiiic
clears
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driver.dorwhen approach
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an intersection
SSWalk but a pedestrian

Brake to a stop at least 20 teet

perore the intersection to allow the

Cross
Continue without slowing since the
pedestrian must wait until traiiic
clears
HONK to warn the peaestrian the car
S proceeding without siowing
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Cross
Continue without slowing since the
p%ﬁ%EWFM{MUSTWdH‘\HIUaTM
clears
HONK to warn the pedestrian the car
S proceedaing without slowing
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driver doywhenrapproaching an intersection

b

a markedicrosswalk but a pedestrian
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D. Continue without slowing since the
pedestrian must walt until traific
clears

C. Honk to warn the pedestrian the car
S proceedaing without siowing

d. NONE are correct
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0. VWnen the lignt IS red or turning rea,

a bIcyclist who IS cwmt nrougn a
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d. ALL are correct!
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At Intersections with marked D. At midblock without a markeo

crosswalks. Crosswalk

pab
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C. At Intersections without a marked
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# R |
ving are common'reas a pedestrian

a. A driver turning right only IooKs left,

Not seeing the peaestrian on the rignt
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B |
ving are common'reas a pedestrian

a. A driver turning right only IooKs left, 0. A driver turns left Into a peaestrian
Not seeing the pedestrian on the rignt because the driver only checked for

oncoming traffic
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a. A driver turning right only IooKs left, 0. A driver turns left Into a peaestrian
Not seeing the pedestrian on the rignt DECAUSE the ariver only checked for

oncoming tratric
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c. Adriver In a school zone does not
~watch for children-whoe move

Unpredictanly
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a. A driver turning right only IooKs left, 0. A driver turns left Into a peaestrian

Not seeing the pedestrian on the rignt peEcause "r e ariver only checked for
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c. Adriver in a school zone does not
- watch for children-who move
Unpredictanly
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a. A driver turning rignt only I0oKs left, D. A ariver turns left into a pedestrian
not seeing the peaestrian on the rignt L)eca,Js% ine driver only checked for
oncoming trairic
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" 15-16 correct

13-14 correct
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" 15-16 correct
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